April 28 Math 2306 sec 59 Spring 2016

Section 16: Laplace Transforms of Derivatives and IVPs

An LR-series circuit has inductance L = 1h, resistance $R = 10\Omega$, and applied force E(t) whose graph is given below. If the initial current i(0) = 0, find the current i(t) in the circuit.



LR Circuit Example

Last time, we determined that $E(t) = E_0 \mathscr{U}(t-1) - E_0 \mathscr{U}(t-3)$. This makes the IVP we're trying to solve

$$\frac{di}{dt} + 10i = E_0 \mathscr{U}(t-1) - E_0 \mathscr{U}(t-3), \quad i(0) = 0.$$

Let
$$f(t) = T(s)$$

 $f(t) = f(E_0 U(t-1) - E_0 U(t-3))$

1

$$\chi\{i'\} + 10\chi\{i\} = E_0 \chi\{u|i-1\} - E_0 \chi\{u|i-3\}$$

$$SI(s) - i(o) + 10I(s) = \frac{E_0}{s}e^{s} - \frac{E_0}{s}e^{-3s}$$

$$(s+10) T(s) = \frac{E_0}{s} e^s - \frac{E_0}{s} e^{3s}$$

$$T(s) = \frac{E_0}{S(s+10)} e^s - \frac{E_0}{S(s+10)} e^{3s}$$
We need a particle frection decomp on $\frac{1}{S(s+10)}$

$$\frac{1}{S(s+10)} = \frac{A}{s} + \frac{B}{s+10}$$

$$Mult, bys$$

$$S(s+10)$$

$$I = A(s+10) + Bs$$

$$Qs + I = (A+B) s + 10A$$

April 25, 2016 3 / 23

 $|OA=1 \Rightarrow A=\frac{1}{10}$ $A+B=0 \Rightarrow B=-A=\frac{-1}{10}$ $\mathbf{I}(\mathbf{s}) : \left(\frac{1}{10} - \frac{1}{10}\right) \mathbf{E}_{\mathbf{0}} \mathbf{e}^{\mathbf{s}} - \left(\frac{1}{10} - \frac{1}{10}\right) \mathbf{E}_{\mathbf{0}} \mathbf{e}^{\mathbf{s}}$ $= \frac{E_{0}}{10} = -\frac{E_{0}}{10} = -\frac{E_{0}}{10} = -\frac{E_{0}}{10} = -\frac{E_{0}}{10} = -\frac{3}{10} = -\frac{3}{10} = -\frac{10}{10} = -\frac{3}{10} = -\frac{10}{10} = -\frac{$ ilb= \$\mathbf{I} \{ I \(s) \} $= \underbrace{\underline{E}_{0}}_{1} \underbrace{\varphi}_{1}^{\prime} \left\{ \underbrace{\underline{e}}_{1}^{s} \right\} - \underbrace{\underline{E}_{0}}_{10} \underbrace{\varphi}_{1}^{\prime} \left\{ \underbrace{\underline{e}}_{1}^{s} \right\} - \underbrace{\underline{E}_{0}}_{10} \underbrace{\varphi}_{1}^{\prime} \left\{ \underbrace{\underline{e}}_{1}^{s} \right\} + \underbrace{\underline{E}_{0}}_{10} \underbrace{\varphi}_{1}^{\prime} \left\{ \underbrace{\underline{e}}_{1}^{3s} \right\} + \underbrace{\underline{E}_{0}}_{10} \underbrace{\varphi}_{1}^{\prime} \left\{ \underbrace{\underline{e}}_{1}^{3s} \right\} + \underbrace{\underline{E}_{0}}_{10} \underbrace{\varphi}_{1}^{\prime} \left\{ \underbrace{\underline{e}}_{1}^{s} \right\} + \underbrace{\underline{E}_{0}}_{10} \underbrace{\varphi}_{1}^{s} \underbrace{\overline{e}}_{1}^{s} \left\{ \underbrace{\underline{e}}_{1}^{s} \right\} + \underbrace{\underline{E}_{0}}_{10} \underbrace{\overline{e}}_{1}^{s} \underbrace{\overline{e}}_{1}^{s} \Big\{ \underbrace{\underline{e}}_{1}^{s} \Big\} + \underbrace{\underline{E}_{0}}_{1} \underbrace{\overline{e}}_{1}^{s} \underbrace{\overline{e}}_{1}^{s} \Big\} + \underbrace{\underline{E}_{0}}_{1} \underbrace{\overline{e}}_{1}^{s} \underbrace{\overline{e}}_{$

$$\mathcal{Y}'\left\{\frac{1}{5}\right\}=1$$
 and $\mathcal{Y}'\left\{\frac{1}{5+10}\right\}=e^{-10t}$

$$i(t) = \frac{E_0}{10} \mathcal{U}(t-1) - \frac{E_0}{10} \mathcal{C} \qquad \mathcal{U}(t-1) - \frac{E_0}{10} \mathcal{U}(t-3) + \frac{E_0}{10} \mathcal{C} \qquad \mathcal{U}(t-3)$$

April 25, 2016 5 / 23

・ロト・西ト・ヨト・ヨー うへの

For
$$1 \le t \le 3$$
, $\mathcal{U}(t-1) = 1$ and $\mathcal{U}(t-3) = 0$
 $i(t) = \frac{E_0}{10} - \frac{E_0}{10} \frac{-10(t-1)}{e}$
For $t \ge 3$, $t \ge 1$ $\mathcal{U}(t-1) = 1$ and $\mathcal{U}(t-3) = 1$
 $i(t) = \frac{E_0}{10} - \frac{E_0}{10} \frac{-10(t-1)}{e} - \frac{E_0}{10} + \frac{E_0}{10} \frac{-10(t-3)}{e}$
 $= -\frac{E_0}{10} \frac{-10(t-1)}{e} + \frac{E_0}{10} \frac{-10(t-3)}{e}$
 $= \frac{E_0}{10} \left(\frac{-10(t-3)}{e} - \frac{-10(t-1)}{e} \right)$

$$i(t) = \begin{cases} 0 , & o \le t < 1 \\ \frac{E_0}{10} - \frac{E_0}{10} e^{-10(t-1)} \\ & j & i \le t < 3 \\ \frac{E_0}{10} \left(\frac{-10(t-3)}{10} - \frac{-10(t-1)}{10} \right) , & t > 3 \end{cases}$$

・ロト・西ト・ヨト・ヨー うへの

Solve the IVP

$$y'' + y = \begin{cases} 3, & 0 \le t < 4 \\ 2t - 5, & t \ge 4 \end{cases} \quad y(0) = 1, \quad y'(0) = 0$$

$$\overbrace{f(t)}^{f(t)}$$

$$f(t) = 3 - 3U(t - 4) + (2t - 5)U(t - 4)$$

$$= 3 + (-3 + 2t - 5)U(t - 4)$$

$$= 3 + (2t - 8)U(t - 4)$$

$$= 3 + 2(t - 4)U(t - 4)$$

April 25, 2016 11 / 23

◆□> ◆圖> ◆理> ◆理> 三連

$$\begin{aligned} y'' + y &= 3 + 2(t - 4)\lambda(t - 4) , \quad y^{(n)} = 1 \quad y^{1}(n) = 0 \\ \lambda \{y'' + y\}^{2} &= \lambda \{3 + 2(t - 4)\lambda(t - 4)\} \\ \lambda \{y''\} + \lambda \{y\}^{2} = 3 \quad \lambda \{1\}^{2} + 2 \quad \lambda \{(t - 4)\lambda(t - 4)\} \\ s^{2} \gamma(s) - sy(n) - y^{1}(n) + \gamma(s) = \frac{3}{5} + \frac{2}{5^{2}} e^{4s} \\ 1 & 0' \\ (s^{2} + 1)\gamma(s) - s &= \frac{3}{5} + \frac{2}{5^{2}} e^{4s} \end{aligned}$$

April 25, 2016 12 / 23

・ロト・西ト・ヨト・ヨー うへの



April 25, 2016 14 / 23

◆□▶ ◆□▶ ◆ □ ▶ ◆ □ ▶ ◆ □ ●

B=2, A=0, B+D=0 ⇒ D=-B=-2, A+C=0 C=0

$$\frac{a}{s^2(s^2+1)} = \frac{2}{s^2} + \frac{-2}{s^2+1}$$

$$U_{1(S)=} \frac{3}{S} - \frac{3S}{S^{2}+1} + \left(\frac{2}{S^{2}} - \frac{2}{S^{2}+1}\right) \tilde{e}^{4S} + \frac{S}{S^{2}+1}$$

$$Y(s) = \frac{3}{s} - \frac{2s}{s^2+1} + \frac{2}{s^2} - \frac{4s}{s^2+1} - \frac{2}{s^2} - \frac{4s}{s^2+1} = \frac{2}{s^2+1} - \frac{4s}{s^2}$$

$$\mathcal{Y}\left\{\frac{1}{5^{2}}\right\} = t$$
 and $\mathcal{Y}\left\{\frac{1}{5^{2}+1}\right\} = sint$

April 25, 2016 15 / 23

$$y(t) = \tilde{y}'\{Y(s)\}$$

$$= 3\tilde{y}'\{\frac{1}{5}\} - 2\tilde{y}'\{\frac{s}{5^{2}+1}\} + 2\tilde{y}'\{\frac{e^{4s}}{5^{2}}\} - 2\tilde{y}'\{\frac{e^{4s}}{5^{2}+1}\}$$

$$y(t) = 3 - 2\cos t + 2(t-4)u(t-4) - 2\sin(t-4)u(t-4)$$

The Second Shifting Theorem

Using the definition of the Laplace transform, show that

$$\mathscr{L}{f(t-a)\mathscr{U}(t-a)} = e^{-as}\mathscr{L}{f(t)}$$

Recall
$$\mathcal{U}(t-a) = \begin{cases} 0, 0 \le t < a \\ 1, t > a \end{cases}$$

$$\chi\{f_{lt-a}, u_{lt-a}\} = \int_{0}^{\infty} e^{-st} f_{lt-a} u_{lt-a} dt$$

$$= \int_{0}^{\infty} e^{st} f_{lt-a} u_{lt-a} dt + \int_{0}^{\infty} e^{st} f_{lt-a} u_{lt-a} dt$$

$$= \int_{0}^{\infty} u_{lt-a} u_{lt-a} dt + \int_{0}^{\infty} e^{st} f_{lt-a} u_{lt-a} dt$$

April 25, 2016 20 / 23

<ロト <回 > < 回 > < 回 > < 回 > … 回

$$= \int_{e}^{\infty} e^{-st} f(t-a) dt$$

$$= \int_{e}^{\infty} e^{-st} f(t-a) dt$$

$$= \int_{e}^{\infty} e^{-st} f(t-a) dt$$

$$= \int_{e}^{\infty} e^{-st} f(u) du$$

$$= \int_{e}^{\infty} e^{-su} f(u) du$$

$$= \int_{e}^{\infty} e^{-as} e^{-su} f(u) du$$

$$= e^{-as} \left(\int_{e}^{\infty} e^{-su} f(u) du \right)$$

April 25, 2016 21 / 23

as expected.

▲□▶ ▲□▶ ▲ ■▶ ▲ ■ シ へ ○ April 25, 2016 22 / 23